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Read the instructions on the answer sheet carefully. Fill in the necessary information before the announced
deadline.
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Check for any missing pages in the test booklet after the exam starts. "End of Paper" should be present after the last
question.
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Each question carries equal marks.
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Answer all questions. Circle answers on the answer sheet with a pencil and then answer on the electronic device.
Double-check answers on the electronic test paper.
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Select only one answer per question. Multiple answers will receive no marks.
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KRGETR, N5 414y, Incorrect answers will not result in mark deductions.

Do not leave the exam room until the test is completed. Allocate time for reviewing the test paper if finished early.
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LTHEEXBERK?
Which of the following expressions has the largest value?

1.287/0.1
0.0213/0.01
1924/1000
9984/10000
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A dozen egg tarts are sold for $57. How much does 8 egg tarts cost?

29
38
44
32
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Which of the following values is the largest?

20/8
35/4
7.56
8.21
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Carman bought 16 white chocolates and 34 dark chocolates. What
percentage of the total chocolates is the white chocolates?

32%
56%
43%
21%
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8 367.2+ 153
Calculate 367.2 + 15.3

25
245
24
24
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5 428-74%x26+129
Calculate 42.8-7.4x 26 +12.9
A. 104.94
B. 36.46
C. 548.7
D. 10.66
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What is 32% of 1407

448
64
32
44.8
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Which of the following conversion between decimal and percentage is
incorrect?

48% =0.48
4.8% =0.0048
480% =4.8
4800% = 48
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9. |52IMAXRFEREZLVH?
How many liters are equal to 5.2 cubic meters?

5200
52000
5200000
52000000
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10. | UTHMERRARRERF SRR BT IERE ?
Which of the following descriptions about the circle is incorrect?

A BERHER=ERX x BEZR
(Circumference= diameter x 1r)
B. ERRIER =2 xF& x EFFE
(Circumference = 2 x radius x 1)
C. ERERFEMME
(Diameter is double of the radius)
D. BEERRE—FER
(Every circle only has one diameter)
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What is the average of 6, 6, 6, 6, 6?
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